
Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Exposants de 10

3.42 × 10 =2 10 =2

10 =6 10 =3

10 =5 4.31 × 10 =2

10 =6 4.26 ÷ 10 =2

6 × 10 = 8 × 10 =

6.75 ÷ 10 =3 1 × 10 =0

7.81 × 10 = 10 =2

1 × 10 =5 2.33 × 10 =2

10 =3 9 × 10 =5

−3 × 10 =0 5 × 10 =5
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Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Exposants de 10

3.42 × 10 = 3422 10 = 1002

10 = 10000006 10 = 10003

10 = 1000005 4.31 × 10 = 4312

10 = 10000006 4.26 ÷ 10 = 0.04262

6 × 10 = 60 8 × 10 = 80

6.75 ÷ 10 = 0.006753 1 × 10 = 10

7.81 × 10 = 78.1 10 = 1002

1 × 10 = 1000005 2.33 × 10 = 2332

10 = 10003 9 × 10 = 9000005

−3 × 10 = −30 5 × 10 = 5000005
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